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{3 Tho directors of Holham Lid plan to introduce a new product.

- A new machine costing $125000 will be required. It will be sold at the end of five years for
©$30000. Machinery is depreciated using the straight line method.

The new product will earn $90 000 revenue annually and incur additional expenditure of $60 000

cach year ;
The purchase of the new machine will be financed by a loan at 8% per annum.

The following discounting Tactors are given.

8% 14%
Year 1 0.926 0.877
2. 0.857 0.769
3 0.794 0.675
4 0.735 0.592
5| 0.681 -0.519
REQUIRED
(a) Calculate for the new product
(i) netpresent value (NPV) ’ v [10]
(i) internal rate of return (IRR) : "7
(ili) - accounting rate of return (ARR) ' (5]

The budget for the new product is based upon the production and salé of 1000 units each year at

' $90 per unit. The standard cost of production of each unit is made up as follows:

Direct material: 4 kilos at $5.50 per kilo.

Dircct labour: 1.75 hours at $12 per hour.
The balance of the additional expenditure consists of administration expenses.
10% is added to the cost of production for factory profit.

REQUIRED

(b) Prepare Manufacturing, Trading and Profit and Loss Accounts in as much detail as possible
to show the product’s budgeted additional annual profit. : : 1Y

1000 units of the product were made and sold. The actual expenditure per unit was as follows:
Direct material: 4.2 kilos at $5.25 per kilo.
Dircct labour: 1.5 hours at $12.60 per hour.

REQUIRED

(c) Calculate the following variances:

(i) direct materials usage
(ii

)
(iii) dircct labour efficiency
)

‘ direct materials price
(iv) direct 'abourrate. ' | - (8]

[Total: 40]
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